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A strange correlation between fout and out

for example :1st cycle sdd4 €549 triggered events

1st cycle sdd4 no vertex cut

u h2
400 Entries 36971
— Mean x 2406
350 Mean y 150.7
- RMS x 815
- RMS y’ 75.4
300 FPYFIE T
250
5 F
200
150 —
100 —
50
O : 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 500 1000 1500 2000 2500 3000 3500 4000

out



90 < fout
400 — h2_px
- Entries 26487
350:— Mean 2479
- RMS 848.3
300:— Underflow 0
= C Overflow 1375
S C
~
2200
c -
> C
o C
O 150
100
50—
O:I Ll 1 I Ll 1 1 11 1 1 I 11 1 | I 111 1 I 111 1 I 111 1 I 11 1 1 I
0 500 1000 1500 2000 2500 3000 3500 4000
out
O< fout < 90
- h2_px
180 — Entries 10297
160 :_ Mean 2211
L RMS 685.9
140:— Underflow 0
c r Overflow 1
[3) r
2120:
5100_—
g C
o 80—
© r
60—
40
20
O:IIIIIIIII|III|IIII|IIII|IIIIIIIIIIII
0 500 1000 1500 2000 2500 3000 3500 4000
out

Event ratio (fout>90 : fout<90)

26487 : 10297 = 2.6 : |
L 4 [
.... - ° L[]
O..
...
......
h.....
4
.....
...
.....
cycle1 sdd4 e549 trlgger no vertex cut
C "~,. .
C e, Entrtes 36971
350— Many x 2406
C Meany~.. 150.7
C RMS x ! 815
300 —
250
... -
.. - r
o .,.3200_—
... -
o
150':—'“..
= L 4
4 ..

fout = 90

.
o**
11 1 I L1 1 1 I L1 1 1 I L1 1 1 I.“I 11 |

0 500 1000

.
.
PY g

2000 2500 3000 . 3500 4000
out o [ 3

1500

R The strange correlation line

has no signal !
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If kaon beam timing is chosen,
the strange correlation disappeared.

1st cycle sdd4 no vertex cut 1st cycle sdd4 no vertex cut (Kaon timing)
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We can neglect this correlation phenomenologically.



